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5.0ptAC : 5.0ptBD = £ABC : /BCD

4:5=/ABC:25°

.. LABC = 20°

.. LAPC = /PBC + /PCB = 20° + 25° = 45°




oS oA /APB = 45° 4 uf], /OAB

o] 2717

@ 35° @ 40° @45°

@ 50°

® 55°

B

OB HxHAE I0H
/AOB =45x2=90°,

AAOB &= olsHAZ ol B R
LOAB = 45° o]t}.




o2 I Y H A, B, C,DE ¥ A
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5.0ptCE ©]1, /AOE = 98°
EH, /DPB 94 EL7]1—‘:—?

ne

@® 45° @ 46° @ 47° @ 48° ®)49°

B ~

(CBE = a, /ABC = b 2tal S}H,
a-+b=/ABE = %AAOE =49°

/CBE = /BCD °|B&&
ABCP °|A /BPD =a+ b =49°




15.

~~ ~ N

ohe 93} ZHo] ¥ 910l 5.0ptAB : 5.0ptBC : 5.0ptCD =2 : 3 :
¢ H AB,C,D E Fol @ AB 9 & CD o dFAdye S
gt 5}A}F /E = 30° 9 W, LZACD 9] A7]=?

@® 21° @ 21.5° ® 22° @)22.5° ® 23°

—~ —~ ~~
5.0ptAB : 5.0ptBC : 5.0ptCD = /BCA : /BAC : /CBD
(BCA = 2x, /\BAC = 3x, /CBD = 4x

(DBA = /ACD =y 2} 5} /BAC = /DCA + 30° |22
3x =y + 30° o|t}.

AABC A 9x +y = 180°, 3y + 90° + y = 180°, y = 22.5°

.. LACD = 22.5°

4
E




